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Week by week at a glance:

Addition Tables

Subtraction Tables

Multiplication Tables

Division Tables

Week | Addition & Subtraction 2, 3, 4, 5, 10

Week 2 Addition & Subtraction 6, 7, 8, 9

Week 3 Addition & Subtraction Revision

Week 4 Addition & Subtraction Revision

Week 5 Multiplication & Division (2, 4, 8, 5, 10)

Week 6 Multiplication & Division (3, 6, 9, 7)

Week 7 Multiplication & Division Revision

Check-up |

Week 8 Multiplication & Division (2, 4, 8)

Week 9 Multiplication & Division (3, 6, 9, 7)

Week 10 Multiplication & Division Revision

Week || Equations (X2, —2, X4, —4)

Week 12 Equations (X2, -2, X4, —4, X8, =8)

Week 13 Equations (x5, =5, X 10, = 10)

Check-up 2

Week |4 Equations (X3, =3, X6, —6)

Week 15 Equations (X3, =3, X6, +6, X9, +9)

Week 16 Equations (X7, =7)

Week 17 Equations (X7, =7, X9, =9)

Week 18 Equations (2, 3, 4, 5, 10)

Week 19 Equations (3, 6, 9, 7)

Week 20 Equations Revision

Check-up 3

Week 2| Number Sentences (X2, +2)

Week 22 Number Sentences (X3, +3)

Week 23 Number Sentences ( X 4, —4)

Week 24 Number Sentences (X5, =5, X 10, = 10)

Week 25 Number Sentences (X 6, ~6)

Week 26 Number Sentences (X7, —~7)

Week 27 Number Sentences (X8, +8)

Week 28 Number Sentences (X9, =9)

Week 29 Number Sentences Revision

Week 30 Number Sentences Revision

Check-up 4
Note for Teachers:
You may choose to cover the week-by-week scheme in a different order, according to your
teaching plan. Also, if you wish, the answers can be downloaded from the educate.ie website.
As for the time allowed for each daily test, Teachers might find it beneficial on occasions to
allow the pupils to set their own target time.
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Tables Addition | to 10
5 +
5+0=5
5+ 1 =6
5+ 2 =7
5+ 3 =28
5+ 4 =9
5+ 5 =10
5+ 6 =11
5+ 7 =12
5+ 8 =13
5+ 9 = 4
5+ 10=15
10 +
+ 10+ 0 =10
+ 10+ 1 =1l
+ 10+ 2 =12
+ 0+ 3 =13
+ 10+ 4 = 14
+ 0+ 5 =15
+ 0+ 6 =16
-+ 0+ 7 =17
+ 0+ 8 =18
+ 0+ 9 =19
+ I0+ 10 =20
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Tables Subtraction | to 10
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Tables Multiplication 2 to 10
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Tables Division 2 to 10
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- Monday Tuesday Wednesday Thursday
m@ Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
m@ _.m+oum+w_.m+uub+m_.m+oum+m_.o+wum+pm
MM 2| 6 + 3 =4 + 5| 2|5+ 7 =¢6+6)2 8+3==u4+7|2 9+9=10+38]|s2
m@ 3./ 6 +10=10+ 6|38 0+ 7 =14+3|88+7=09+6]|89+4=206+7]%
4| 3 + 6 = 4 + 5| 4| 3 + 7 =38+ 2| 4| 8 + 6 =10+ 4| 4|l 0o+ 6 =18+ 7%
5, 6 + 8 = 5 + 9 5/ 7 + 7 =10 + 4 5/ 8 + 9 = 9 + 8 5/ 9 + 10 = 10 + 9
5 6] 6 + 9 —w0+5| 6|8+ 7=09+6l6ls+5=06+7]06l0+5=38+06 |2
° 7., 7 + 6 = 5 + 8 7. 4 + 7 = 5 4+ 6 7., 8 + 2 = 7 + 3 7., 9 + 2 = 8 + 3
ot 8| 6 + 4 =3 + 7 8/ 10+ 7 =28+ 9|88 +8=29+7/|8[9+8=284+09
WO“ 9.| 6 + 0 = 2 + 4 9. 6 + 7 = 8 + 5 9.| 8 + 4 = 6 + 6 9. 9 + 0 = 6 + 3
389_0.m+ouw+m_o.o+ﬂuo+_o_o.m+_nq+m_o.o+ﬂnm+m
A | 4+ 6 =5 - 5| 0-7=0+3|1]8+0=10-2|1]9+5=16-2
S 12 6 + 9 =18 - 8 |12 13 - 7 =2 + 4 |12 4 + 5 =17 - 8 |12 5 + 4 =18 -9
= 3., 6 + 6 = 14 - 2 | 18| 17 - 7 =5 + 5 18 2 + 2 =12 - 8 |18 3 + 2 =14 - 9
4., 6 + 7 =183 — 0 | 14| 14 - 7 = 3 + 4 | 14| 3 + 3 = 14 - 8 | l&| 7 + 0 =16 - 9
5., 8 + 6 =15 - | |18 15 - 7 =5 + 3 |16 2 + 0 =10 - 8 |15 7 + 3 =19 - 9
l6., 6 + 5 = 14 — 3 |16 12 - 7 =3 + 2|16/ 5 + 3 =16 — 8 |16 2 + 4 =15 - 9
7., 5 + 6 =11 — 0} 17.{ 1N - 7 =2 + 2 [ 17., 2 + | =11 - 8 |17 2 + 6 =17 - 9
8., 6 + 6 =16 - 4 | 18| 16 - 7 = 6 + 3 |18 4 + 3 =15 - 8 |18 3 + 4 =16 - 9
19.] 0 + 6 =10 — 4 |19.| 14 - 7 =5 + 2719 7 + 3 =18 -8 |19 18 -9 =15 - 6
2., 9 + 6 =20 - 5}|2.| 17 - 7 =6 + 402 5 + 0 =13 - 8 |2./15- 9 =9 - 3
Score Score Score Score
20 A 20 A 20 A 20
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- Monday Tuesday Wednesday Thursday
m@ Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
m@ .l 2 + 5 = 5 + 2 .l 5 + 4 = 4 + 5 .l 5 + 4 = 7 + 2 .l 6 + 3 = 5 + 4
MM 2| 6 + 4 = 4 + 6 2| 9 + 2 = 3 + 8 2| 4 + 4 = 5 + 3 2| 5 + 4 = 7 + 2
m@ 3. 3 + 5 = 4 + 4 3. 6 + 5 = 4 + 7 8. 4 + 5 = 3 + 6 3./ 5 + 5 = 8 + 2
41 6 + 3 = 2 + 7 4 4 + 3 = 5 + 2 4| 3 + 9 = 7 + 5 4| 8 + 3 = 5 + 6
5| 3 + 4 = 2 + 5 5| 7 + 4 = 5 + 6 5| 5 + 7 = 8 + 4 5| 8 + 5 = 9 + 4
m 6., 5 + 3 = 4 + 4 6.l 6 + 5 = 8 + 3 6.| 3 + 9 = 4 + 8 6., 9 + 3 = 7 + 5
[ 72/ 6 + 5 =4+ 7| 7] 8+3=7+4|75+9=09+5|7 7+5=29+3
..M 8| 8 + 3 =5 + 6 8| 6 + 2 =5 + 3 8] 2 + 8 = 6 + 4 8| 6 + 2 = 4 + 4
Wm 9. 4 + 4 =3 + 5| 9|6 + 4 =7+ 3|9 4+5=7+2|9]8+6=29+s5
R 0. 7 ¢ 4 =2+ 9 |05 + 4 =7+ 201105 +8=4+910]2+8=7+3
&W ., 4 + 3 =12 - 5 .| 18 - 5 = 5 + 3 ., 6 + 2 =10 - 2 | Il.| 4 + 5 =1 - 2
mDn 2. 4 + 5 =12 - 3 |12/ 18 - 3 = 6 + 4 | 12| 4 + 2 =10 - 4 |12, 7 + 3 =16 - 5
= 13.) 10+ 2 =14 — 2 | 13|12 - 5 = 4 + 3 |18 2 + | =10 - 7|18 4 + 4 =15 — 7
M 4 5 + 4 = 12 - 3 4| 12 - 4 = 6 + 2 4| 5 + 4 =12 - 3 4 5 + 2 =17 - 10
< 5| 6 + 3 =14 — 5 | 15| 14 - 5 =5 + 4 |16 3 + 7 =14 — 4 |16 9 + 5 =19 - 5
l6.| 8 + 4 = 13 — | l6.| 10 — 3 = 4 + 3 |16 2 + 4 =10 - 4 | l6.] 4 + 3 =1l — 4
17.| 3 + 3 =10 - 4 7./ 17 - 5 = 5 + 7 7./ 5 + 4 =14 - 5 | 17.| 5 + 4 =14 - 5
g 8. 7 + 5 = 14 - 2 8./ 17 - 4 = 9 + 4 |18 2 + 5 =10 - 3 | 18| 9 + 3 = 14 - 2
4 19.] 4 + 2 =10 — 4 | 19./ 12 - 3 =5 + 4 |19 4 + 3 =12 - 519 9 - 3 =12 - ¢
% 2./ 9 + 4 =15 - 2 |20.| 15 - 5 = 6 + 4 /20| 3 + 4 =1 - 4 | 20.| 14 — 7 =15 — 8

W Score Score Score Score
\ 20 A 20 A 20 A 20
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- Monday Tuesday Wednesday Thursday
m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
m.@ l. 7 x 3 = 2 l. 5 x 6 = 30 l. 72 - 9 = 8 I 7 x 5 = 35
MM 2, 9 x 3 = 27 2. 9 x 6 = 54 2, 56 ~ 9 = 6 2, 7 X 9 = 63
m@ 3. 4 x 3 = 12 3. 4 X 6 = 24 3. 8l - 9 = 9 3. 7 x 3 = 2|
4, 6 x 3 = 18 4, 7 X 6 = 42 4, 36 + 9 = 4 4, 7 X 6 = 42
c 5. 24 + 3 = 8 5. 48 ~ 6 = 8 5. 9 x 3 = 27 5. 4 ~ 7 = 2
o 6| 15+ 3 =5 6. 5+ 6 = 9 6. 9 x 7 = 63 6. 56 - 7 = 8
m 7. 21 = 3 =7 7. 18 ~ 6 = 3 7. 9 x 5 = 45 7. 28 ~ 7 = 4
0 —~ B2 30 = 3 = 10 8. 30 + 6 = 5 8. 9 x 9 = 8l 8. 49 ~ 7 = 7
&79 9. 9 x 3 = 27 9. 6 X 8 = 48 9. 9 x 6 = 54 9. 8 x 7 = 56
mO,y 10. 5 x 3 =15 10. 6 x 0 =0 10. 9 x 8 = 72 10. 2 x 7 = 4
...M,O, . 7 x 3 = 2 . 6 x 6 = 36 In. 9 x 5 = 45 I 4 x 7 = 28
ER 2| 3 x 3 = 9 2. 6 x 3 = 18 12 9 x 10 = 9 2. 10 x 7 =70
.Mlu.. 13. 3 x 8 = 24 13. 6 X 8 = 48 13. 63 + 9 = 7 13. 7 x 7 = 49
m 14, 3 x 4 = 12 14, 6 x 5 = 30 14. 27 = 9 = 3 14, 8 X 7 = 56
> 15, 3 x | = 3 5./ 6 x 7 = 42 5./ 4 = 9 = 5 15, 5 x 7 = 35
16. 3 X 6 = 18 16. 6 X 9 = 54 16. 8 - 9 = 2 16. 9 x 7 = 63
17. 27 = 3 = 9 17. 24 = 6 = 4 17. 4 x 9 = 36 17. 2l + 7 = 3
O 8. 2 + 3 = 4 8. 48 - 6 = 8 8. 8 X 9 = 72 8. 63 -~ 7 = 9
4 19. 6 -~ 3 = 2 19. 60 ~ 6 = 10 19. 0 x 9 = 0 19. 35 ~ 7 = 5
% 20. I8 - 3 = 6 20. 36 - 6 = 6 20. 6 X 9 = 54 20. 56 -~ 7 = 8
W Score Score Score Score
\ 20 A 20 A 20 A 20
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- Monday Tuesday Wednesday Thursday
m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
?
M.@ . 8 x 3 + 6 =15 .l 2 = 3 + 5 = 12 I.| 6 x 3) + 3 = 2I .l 8 x 3 + 3 = 27
MM 2. (4 x 6 + 6 = 30 2.| 48 = 6) + 9 = 17 2.0 5 x 6) + 6 =36 2| 9 x 6) — 6 = 48
m@ 38.| (7 x 9 - 7 = 56 3./ (72 - 9 - 4 = 4 3] @ x 99 — 9 =72 3| 4 x 9 + 9 = 45
4| (5 x 7) - 5 = 30 4| 42 - 7) - 3 = 3 4| (4 x 70 - 7 = 2l 4| 6 x 7)) - 7 = 35
c 5[(15 + 3 + 7 = 12 5/ 6 x 3 + 7 = 22 5[(12 =+ 3) + 7 =1l 5[(9 = 3 + 3 =6
o 6.1(3 ~ 6) + 8 = 14| 6| (6 x 6) + 6 = 42| 6./(48 = 6) + 4 = 12| 6./(36 + 6 - 2 = 4
m 7.1(45 = 9 - 2 = 3 7. 8 x 9 - 8 = 64 7.1(45 + 9 - 2 = 3 7.1(81 = 9) + 5 = |4
‘@) | 8.(63 -7 - 2 =7 8. (7 x 7) - 7 = 42| 8/(28 + 7 - 2 = 2 8.1(56 + 7) - 3 = 5
&79 9.l 27 = 3 + 4 = 13 9.1(15+ 3 + 6 = 1l 9.l 25 =(7 X 3) + 4 9.l 27 = 3) + 6 = 15
m”’ 10.| 54 =~ 6) + 7 = 16 | 10.{(3 = 6) + 8 = 14 | 10.| 42 =(8 x 6) — 6 | 10.| 54 = 6) + 7 = 16
.._My ., 81 = 9 - 5 = 4 /(8 <+ 9 - 3 = 6 .| 30 =(3 x 9 + 3 | Il.|] 63+ 9 - 4 = 3
.wmu\ 12| 49 = 7) — 3 = 4 | 12|(70 = 7) — 7 = 3 | 12| 24 =(4 x 7) — & | 12| 49 = 7) - 3 = 4
.Ml.r 8./ 3 x 4)+ 2 = 14|13 B8 x 4 )+ 6 = 18 18| (18 = 3) + 6 =12 18| 8 x 4)+ 3 = 15
m 4. 6 x 9)+ 2 = 56| 14| (6 x 4 )+ 8 = 32| 14| 30 ~ 6) — 2 = 3 | l4| (6 x 7)- 6 = 36
b3 5./ 9 x 8 )— 4 = 68 | 15| (9 x 4 )— 4 =32 16| 54+~ 9 + 7 = 1315 (9 x 9)- 9 = 72
6.| (7 x 8 )— 8 = 48 | 16| (7 x 5 )— 2 =33 | 16| (42 =~ 7) — 4 = 2 |16 (7 x 2)+ 2 =16
17.] 14 =( 38 x 3 + 5 17.] 26 =(7 x 3) + 5 7. 32 = 3 x 8 )+ 8 | 17.| 27 =(8 x 3) + 3
(o)) 18.| 42 =( 6 x 6) + 6 | 18| 22 =(3 x 6) + 4 | 18.| 48 = (6 x 7 )+ 6 | 18| 24 =(5 x 6) — 6
- 19.] 78 =( 9 x 9 — 3 | 19.] 68 = (9 x 8 )= 4 | 19.] 48 = (9 x 6 )— 6 | 19.] 30 = (9 x 3 )+ 3
% 20.| 48 =(8 x 7)) - 8 | 20.| 52 = (7 x 8 )— 4 | 20.| 24 = (7 X &4 )— & | 20.| 49 = (7 x 8 )- 7
W Score Score Score Score

Photocopying is prohibited

16



ﬁm 0c 240923 h e 0c 240923 Y 0c 2102g Y 0c 2402g
£
m L -(g x 6 =8 [0 ¢ -(8 x 6 =9¢6¢ 02| ¢ -(8 x G =2¢6¢ (0g| 8 — (B8 x L )= 8y |02
m. v +(8 x 6 =9 |61 ] € —(6 x L) =0 |61l | v —(L x L) =67 |6l ]9 — (& x L )= 8 |6l
= 8 - (W x v )= 8 |81 | 9 +(9 x 8 =4 |81 | € + (€6 x £)=1% [861 ]| 9 + (6 x # )= 2y |8l
m 9 + (9 x 6)=109 |21 | ¥ +(8 x € =8 L1 | # + B8 x g )=%7 |21 | v + (9 x 8 )= ¢S |'LI
¢ =9 +(eg x 8 |91 | ¢ =6 - (£ =69 |91 |8 =% —-(8x 4% |91 ]Le=06 —-(6 x4 |9
c Gy = % —(¢2 x L) |g1 ]9 = 6 + ( -¢6¢)|g1 e =6 —-(6x 6 |61 ]9 =9 -(9 x £) |G
m g€ = ¢ —-(L x 9 |4 | ¢ =2 - (B =02 % |2 =0 +(9 x £) |4 |2 =8 +(8 x € |4
M 0c = ¢ +(9 x ¢ |e |G = 8 + (6 =12 |1 s =0 +(2 x Q) |€1 |49 =% +(% x 9 |=gl
Dn e = ¢ — (6 =%) e 9 - 9 xe6)=9872 | € =2 —-(€=s1)e| v =12 - =zl
&.m 0 =% - =8 |Nn|9 +xgl=2 |[N1N|¥v=1¢-C=e6v)NN| %" =6 - (9 =)
mm Gl = 9 + @ 2|0 ] 9 - & xHw)=o0 |0 fS =L 4+ © =s87)for |1l =9 + (8 + 0% |0l
._m%nv yl = L + (9 = 2% |6 ol + (01 x 6 )= 00l |6 2l = 6 + (v =82)|6 Gl = 8 + (v = 82) |6
.m € =2 - (6§ -gz)|8 S = ¢ - (6 -ge)|g Jog =0 - (0 x % |8 9 = % — (01 =o01)|8
...ndr 2l = 8 + (L +82)|¢L v = ¢ — (6 =) 6L = 2 — (6 x 6 |L L =2 - (6 +18)|L
5 e =¢2¢ - (@€ +2a)9 s =9+ 69l la=0+0x20]9 |z =4+ 09 «s8r)lo
> 6 = 4% + (@ =o01)|'s | ol = 9 + (9 = 4%)|'§ Ll = 8 + (¢ x ¢ |'g o = ¥ + (¢ = 81)|¢g
g2 = 8 - (¥ x 8 |4 |95 =8 — (8 x 8 [ e = ¢ — (9 =09 |y 2y = ¢ — (8 x 6) |y
e = 0 + (L x ¢) |8 |8 = 4% — (v x 8) |¢ y = € — (8 =99 |¢ | v =% - (8 x 9) |¢
m oo = ¢ - (6 x 8 |2 |ee =8 + (€ x 8 [T 2l = L + (§ = G2 |e 2¢ = 8 + (v x 9 |2
V4 09 = 9 + (9 x 6) |1 96 = L + (L x 1) |l ¥yl = G + (6 = f2) |l 22 = 8 + (@ x 1) |
o
m seInuIw :pamonp swi| seInuIw :pamonp swi| selnuIw pamonp swi| salnuIw ‘pemolio swi]
fiopsiany] fibpsaupsp\ fippsen] Ropuol

Photocopying is prohibited



- Monday Tuesday Wednesday Thursday
m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
m@ .l 3 x 2 =10 - 4 .12 = 2 =10 - 4 .. 4 x 2 = 8 - 0 I 24 + 4 =3 + 3 [z
MM 2| 5 x 2 =15 - 5 2| 24 + 4 =11 - 5 2| 8 x 4 =20+ 12| 2| 28 = 4 = |2 - 5 m
m@ 3| 4 x 4 = 9 + 7 3|16 + 2 = 5 + 3 3.] 7 x 2 =20 - 6 3.| I8 -+ 2 = 4 + 5 w
4| 6 x 4 =22 + 2 4| 36 = 4 = 5 + 4 4| 6 X 4 = 12 + 12 | 4, _o|mn_m|bm
5/ 12 + 2 =13 - 7 5/ 4 x 2 =11 - 3 5/ 14 + 2 =15 - 8 5/ 9 + 7 = 4 x 4
) 6. 14+ 2 =15 —- 8 6.| 7 x 2 =16 - 2 6.| 36 + 4 = 2 + 7 6.| 9 + 3 = 6 x 2
.l_._.. 7.l 28 + 4 = 2 + 5 7.1 7 x 4 = 14 + 14 7.l 28 + 4 = 13 - 6 7.l 20 - 6 = 7 x 2
70 8[3 - 4 =3 + 6 8| 4 x 4 = 9 + 7 8|20 + 4 = 3 + 2 8.3 - 6 = 6 x 4
mw._n. 9. 8 x 2 =20 - 4 9.l 30 - 2 = 4 x 7 9.l 12 + 20 = 4 x 8 9. 8 + 6 = 2 x 7
..my_o.wa*nq+m 0.] 10+ 8 = 9 x 2 | 10., 6 + 4 = 2 x 5 | 10.| 14 — 4 = 2 x 5
w.n_/_ .l 4 x 2 =17 - 9 L 1.l 20 - 4 =8 x 2 | 1|2 - 4 =2 x 8 | I.l l6 +16 =8 x 4
FIEE 12, 7 x 4 =19 + 9 |12/ 20 + 12 = 8 x 4 |12/ 2 - 10 = 4 x 3 | 12| 25 - 5 = 5 X 4
nv/a_ 3./ 9 + 3 = 2 x 6 | 13|16 - 8 =16 = 2 | 18|18 + 2 = 6 + 3 | 18| 5 + 2 =14 =+ 2
e 12 + 12 = 4 x 6 |14l 14 - 6 =32 = 4 | 14| 2 = 4 =14 — 8 | 14| 7 - 3 =16 - 4
5./ 20 - 2 = 2 x 9 | I5| 17 - 8 =36 = 4 | 16|16 ~ 2 =17 —= 9 | 15| 4 + &4 = 32 + 4
6. 22 — 10 = 4 x 3 | 16| 12 — 5 =28 =~ 4 | 16 3 ~ 4 = 2 + 7 |16 15 — 9 =12 =+ 2
17.| 36 = 4 = 3 4+ 6 | 17.] 6 x 2 =15 — 3 | 17| 6 x 2 = 8 + &4 | 17.| 2 x 9 = 9 + 9
— 8. 16 =+ 2 =17 — 9 | 18| 5 x 2 = 6 + 4 | 18| 9 x 2 =21 — 3 | 18| 4 x 7 =18 + 10
v 9./ 18 =+ 2 = 9 + 0 | 19.| 5 x 4 =15+ 5 | 19.| 3 X 4 =20 - 8 | 19.| 4 X 9 =40 - 4 [ e
% 2./ 32 - 4 = 14 - 6 | 20.| 3 x 4 =16 — 4 | 20.] 7 X 4 =19 + 9 mo.qun_mlpl
W Score Score Score Score
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m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
M.@ .| 4 x 10 = 4 — 4 .l 35 + 5 =10 - 3 .| 9 x 5 5 - 5 . 100 = 10 = 5 + 5
MM 2| 5 x 5 =30 - 5 2./ 80 + 10 = 18 - 10 2| 4 x 5 5 + 15 2| 40 + 5 = 10 - 2
m@ 3./ 9 x 5 =35 + 10 3| 45 + 5 = 6 + 3 3.] 6 x 5 45 — 15| 3|5 - 5 =5 + 5
4| 8 x 5 = 30 + 10 4| 25 -~ 5 = 3 + 2 41 3 x 10 5 + 15| 4| 3 = 5 = 10 - 4
5|80 + 10 =10 - 2 5.,| 4 x 10 =55 — 15| 5. 45 = 5 15 — 6 5.| 45 + 45 = 9 x 10
=y 625 = 5 =10 - 5 6.| 6 x 5 = 40 - 10 6.| 25 = 5 2 + 3 6.| 25 + 15 = 8 x 5
I 7.| 15 + 5 = 3 + 0 7.| 10 x 5 =30 + 20| 7.| 40 = 5 6 - 8 7./ 10 - 5 = 1 x 5
7| 8] 70 = 10 =4 + 3 8./] 8 x 5 =30 + 10 8.] 90 = 10 4 + 5 8./] 20 - 10 = 2 x 5
mm 9.| 7 x 5 = 40 - 5 9.l 30 - 10 = 4 x 5 9.| 45 + 25 0 x 7 9.| 10 + 40 = 5 x 10
...MX 0. 4 x 5 = 10 + 10| 103 + 15=9 x 51020+ 2 =5 x 810 20 -5 =13 x 5
w._b, M., I x 10 =20 — 10| 1.l 60 - 0 =6 x 10] 1.l 40 - 5 5 x 7 1.3 + 15 =9 x 5
B 2 2 x 0=10+ 101228+ 7 =7 x 5 | 12| 95 - 15 10 x 8 | 12.| 40 — 10 = 6 X 5
ot 1330 + 10=5 x 8|18 3 x 3 =4 = 5 | 13|38 = 5 4 + 3 |13 5 + 5 =100+ 10
Wn\:..mm+_onmxﬂ 4| 4 x | =20 = 5 | l4| 50 = 10 5 — 10 | 14| 14 — 5 = 45 = 5
5| 10 — 5 = 5 x | I5.]| 2 X 4 = 40 - 5 | I6| 25 =~ 5 0 - 5 |15 5 + 0 =25 - 5
6.| 36 — 6 = 5 x 6 | 16| 3 x 2 =60 = 10| 16.| 45 ~ 5 4 + 5 |16 7 - 5 =10 = 5
17.| 60 = 10 = 2 + 4 | 17., 6 x 5 =3 - 6 | 17.| 5 x 10 3 + 15| 17., 5 x 7 =15 + 20
nhu 18.| 40 ~ 10 = 10 — 6 | 18| 7 x 10 = 50 + 20 | 18.] 7 X 5 40 — 5 | 18| 5 x 4 = 10 + 10
v 9. 45 + 5 = 3 + 6 | 19.| 3 x 5 =8 4+ 7 | 19.] 3 x 5 20 - 5 1 19.| 5 x 5 =35 - 10
% 20| 50 = 5 = 12 - 2 | 2. 4 x 5 =2 - 5 2. | x 5 =5 + 0 |2.] 10 x 5 =100 - 50
W Score Score Score Score
\_ 20 A 20 A 20 A 20

Photocopying is prohibited

20



[ [ [ —— si00

¢op nofi pip MoH

N
G = G = 8 = ov |0l 2l = ¢ + (6 = 18) |01 L = % =+ 82 0l 96 = L X 8 0l
L = 6% = 6 + €9 |6 Ll = 8 + (L = €9 |6 6 = G = G% 6 I8 = 6 X 6 ‘6
¥ + G = 9 = %G |'g 6 = G + (8 = 29 |8 9 = ¢ = gi ‘Q 2 = € X 6 ‘e
N 9 - % = G = 02 |'L gl = 9 + (& = 12 |1 6 = 8 =+ 2L ‘L g8 = 9 x 8 ‘L
Q.
=3 € — 0l = ¢ < 1219 2l = S + (L = 6% |9 9 = L =+ g% ‘9 G = § X G ‘9
]
v
% € X ¢ = 6 = %5 |'¢g gy = 8 + (S x 8) |¢g L = 6 =+ €9 ‘G 6y = L X L ‘G
i -
C 6 = 18 = 8 = 2L |y 9¢ = 6 + (6 x ¢ |s L = 8 = 99 2] ¥9 = 8 X 8 2]
6 +~ 9 =9 = 4w |e | €9 = 6 + (9 x 6 |¢ L = 9 + 2 '€ %G = 6 X 9 ¢ 08
L - 12 = ¢ +~ 6 |2 v9 = 8 + (8 x /) |2 g = ¥ =+ g¢ 2 w2 = 9 X % .mm
¥ + G = ¥ = 9¢ |°] 2 = % + (B x L) | 6 = € = [C | Ge =
X




- Monday Tuesday Wednesday Thursday
m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
(7]
% °
& I.l 5 x 3 =20 - 5 I.| 48 + 6 =11 - 3 .| 4 x 3 = 8 + 4 I.f27 + 3 =12 - 3 | £
ﬂw 2| 6 x 6 = 40 - 4 2| 27 -+ 3 =14 - 5 2| 9 x 6 = 30 + 24 m.&|ou_p|om
2 3. 8 x 3 =12+ 12| 3|3 + 6 =12- 7| 3|4 x6 =23 -6|3[2+3=un-4/[%F
4| 8 x 6 =40 + 8| 4| 18+ 3 =15 - 9| 4| 7 x 3 =10+ | 4|3 = 6 =13 - 8 |3
5| 27 - 3 =12 - 3 5/ 2 x 6 =17 - 5 5.|] 27 -+ 3 =15 - 6 5/ 18 + 6 = 4 x 6
6.| 54 -~ 6 = 14 - 5 6.| 5 x 3 =30 - 15| 6.| 54 ~ 6 =17 - 8 6. 3+_oumex
7.1 30 -+ 6 = 4 + | 7.1 3 x 6 = 9 + 9 7.1 18 + 3 =13 - 7 7. 50 - 2 = 8 x 6
0 - 8| 21 -~ 3 =7 + 0 8| 10 x 3 =22 + 8 8.| 42 - 6 =16 - 9 8|24 — 6 = 6 x 3
mww 9./ 7 x 3 =30 - 9 9.| 30 - 6 = 8 x 3 9.1 15 + 15 = 6 x 5 9.l 24 + 24 = 8 x 6
...My_o.mxou_m+_m 0.| 48 + 6 = 9 x 6 | 10.|] 7 + 8 = 3 x 510, 3 - 3 = 9 x 3
W.a_o .| 9 x 3 =29 — 2 | Il.| 20 - 2 = 6 x 3 | I.| 24 - 6 = 3 x 6 |Il.| 5 + 25 =5 x 6
FIEES 12 7 x 6 =22 + 20|12 30 + 12 =7 x 6 | 12|40 - 4 = 6 x 6 |12 2 - 5 = 5 x 3
Mau 3. 18 + 6 = 3 x 8 | 18| Il — 3 =24 + 3 | 18| 24 = 3 =15 — 7 | 18| 18 - 4 = 27 = 3
ol 14| 30 + 24 = 6 X 9 | 14| I5 - 6 =54 = 6 | 14| 36 - 6 =13 - 7 | 14| 15 - 8 = 42 = 6
15| 40 - 4 = 6 x 6 |15 13 — 6 =2 = 3 |16 18 - 3 =14 - 8|15 10 — 4 = 18 = 3
l6.| 16 — 4 = 3 x 4 | 16| 14 — 8 =3 = 6 |16,/ 30 -~ 6 =12 — 7 16| 14 — 5 = 54 ~ 6
7., 24 -~ 3 = 5 + 3 | 17| 5 x 3 =25 — 10} 17.] 7 x 6 =50 — 8 | 17.| 3 x 9 = 14 + I3
N D] 48 - 6 =17 - 9| 18] 8 x 6 =20 + 28|18 8 x 3 =10+ 14]18] 6 x 9 = 24 + 30
v 9.1 80 = 38 =7 + 3 |19] 9 x 3 =2+ 319 8 x 6 =54 - 6|19 6 x 2 =16 - 4§
% 20.| 42 + 6 =12 - 5 |20 5 x 6 =3 - 5,20 9 x 3 =15+ 12/20. 3 x 7 =23 - 9 [N
W Score Score Score Score
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- Monday Tuesday Wednesday Thursday
m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
m.@ .l 5 x 7 40 — 5| 1.l 63+ 7 =16 — 7| I.| 3 x 7 2% — 3| I.| 56 + 7 = 4 + 4
MM 2. 8 x 7 60 — 4 2| 42 + 7 =18 - 7 2| 5 x 7 20 + 15) 2./ 28 = 7 =10 - 6
m@ 3. 6 x 7 32 + 10} 3|3 + 7 = 4 + | 3. 9 x 7 70 - 7 3. 63 - 7 = 5 + 4
41 9 x 7 53 + 10| 4| 56 = 7 =1 + 7 4| 7 x 7 20 + 29 4| 21 = 7 =10 - 7
5.| 42 = 7 10 - 4 5| 4 x 7 =3 - 7 5.| 49 = 7 14 - 7 5| 28 + 7 = 5 x 7
6.| 21 = 7 0 - 7 6.| 9 x 7 =70 - 7 6.| 21 = 7 38 + 0 6.| 63 + 7 =10 x 7
7. 28 = 7 4 + 0 7. 8 x 7 =49 + 7 7.| 63 = 7 6 - 7 7.1 56 - 7 = 7 x 7
n 8.| 49 + 7 3 + 4 8| 10 x 7 =63 + 7 8.| 28 ~+ 7 2 + 2 8| 35 - 7 = 4 x 7
mﬂ 9.l 5 x 7 =40 - 5| 9o|l4s - 7 =5 x 7| 9ol 4+ 7 7 x 3] 9| 3 + 12 =6 x 7
..m-l’ 10.] 9 x 7 60 + 3 | 10.| 40 + 23 = 9 x 7 | 10.| 42 + 7 7 x 7010 3 - 2 = 4 x 7
W.X 1., 6 x 7 50 — 8 | Il.] 30 - 2 = 4 x 7 | Il.| 63 - 7 7 x 8 |1l 20 + 36 = 8 x 7
IER ) 12, 4 x 7 0 + 1812 20 + 22 = 6 x 7 | 12| 21 - 7 7 x 2|12 50 - 15 =5 x 7
13.| 42 + 7 7 x 7 018 3 + 3 =42 =+ 7 | 13| 63 = 7 2 + 7118 3 + 5 =5 = 7
14.| 28 + 7 7 X 5| 14| 2 + 5 =49 = 7 | l4| 49 = 7 0 - 3| 14| 9 - 7 = 14 = 7
I5.| 63 — 7 7 x 8 15| 4 — | =21 = 7 | 15| 42 = 7 8 — 2|15 5 + 0 =3 = 7
6. 35 — 7 7 x 4 |16 3 — | =14 = 7 | 16.| 56 ~ 7 4 + 4 | 16| 13 - 7 = 42 = 7
17.| 63 = 7 5 + 4 | 17.] 8 x 7 =60 - 4 | 17.| 6 x 7 35 + 7 17.] 7 x 9 =56 + 7
A|u 18.| 49 = 7 0 — 3 | 18| 4 x 7 =20+ 8 | 18| 8 x 7 63 — 7 | 18| 7 x 4 = 21 + 7
N 19.| 56 = 7 3 + 5019. 2 x 7 =8 + 619 83 x 7 28 - 7 1 19.| 7 x 7 =56 — 7
% 20.| 3 + 7 = 10 - 52. 5 x 7 =40 - 5 20. 7 x 7 =4 + 7|20.] 7 x 8 =63 - 7
W Score Score Score Score
\ 20 A 20 A 20 A 20
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- Monday Tuesday Wednesday Thursday
m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
m@ .l 7 x 2 =16 — 2 . 16 = 2 =15 — 7 .l 6 x 2 =20 - 8 .l 18 = 2 = 3 + 6
MM 2.| 5 x 3 =20 - 5 2| 21 = 3 =16 - 9 2.| 8 x 3 =20 + 4 2| 2l -+ 3 =15 - 8
m@ 3. 4 x 4 = 12 + 4 3. 36 - 4 = 5 + 4 3.| 7 x 4 =30 - 2 3./ 3 - 4 = 4 + 5
4| 5 x 5 =20 + 5 4| 45 - 5 = 6 + 3 4| 8 x 5 =20 + 20| 4|3 =~ 5 = 12 - 5
5./ 12 + 2 =10 - 4 5] 8 x 2 =20 - 4 5| 14 ~ 2 =16 - 9 5/ 9 + 9 = 6 x 3
6.| 18 ~ 3 = 14 - 8 6.| 6 x 3 =20 - 2 6.| 21 - 3 = 3 + 4 6.| 16 + 16 = 8 X 4
7.| 28 ~ 4 = 2 + 5 7.| 7 x 4 = 24 + 4 7.l 24 =+ 4 = 14 - 8 7.| 50 — 15 = 7 x 5
S\ml 8.|] 50 + 5 = 3 + 7 8.] 10 x 10 =90 + 10 8.| 45 + 5 = 5 + 4 8.|] 65 — 25 = 4 x 10
m_b.. 9.l 3 x 0 =5 - 20| 9|12 - 4 =4 x 2| 9| 9+ 9 =3 x 6] 9|12+ &4 =18 x 2
..ml._u._o.mxmn_m+b_o._o+mnmxw_o._m+_mnbxw_o.wo|wnoxm
W.3., M.l 8 x 3 =1 - 2 | I1.]3 - 10=5 x 4| 1.[]60 - 10=5 x 10| 1.3 + 6 =9 x 4
E2.. 2. 6 x 4 = 12 + 12|12 3 + 10 = 9 x 5 | 12| 45 - 15 =10 x 3 | 12| 40 - 5 = 7 x 5
e 13/ 10+ 15=5 x 5|18 2 x 5 =20+ 2 |18 2 + 2 =8 + 2 | 13| 8 + 2 =100+ 10
4| 9 + 5 = 2 x 7 | l4| 3 x 3 =27 + 3 | 14|27 + 3 =12 — 3 | l&| 12 - 5 =2 = 3
5] 30 — 3 = 3 x 9 | 16| 2 x 4 =32 + 4 | 15|32 + 4 =15 — 7 | 15| 5 + 4 = 36 + 4
6.| 36 — 4 = 4 x 8 | 16| 3 x 2 =230 + 5 |16 50 + 5 = 4 + 6 |16 4 — 5 = 45 + 5
7.1 100 = 10 = 4 + 6 | 17.] 9 x 2 =20 - 2 | 17.| 6 X 4 = 14 + 10| 17.| 4 x 5 = 12 + 8
m 18.| 27 + 3 =12 - 3 | 18| 7 x 3 =20 + | 8.| 9 x 3 =30 - 3 |18 3 x 7 = 18 + 3
v 9.| 28 + 4 = 4 + 3 | 19.| 8 x 4 =22 4+ 10} 19.] 7 x 2 =20 — 6 | 19.] 10 x 10 = 80 + 20
% 20.| 45 = 5 = 17 — 8 | 20.| 7 x 5 = 40 - 5 | 20.| 8 x 5 = 25 + 15|20 5 x 4 = 35 — 15
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m Time allowed: minutes Time allowed: minutes Time allowed: minutes Time allowed: minutes
M.@ I.| 7 x 3 =25 - 4 .l 28 ~ 4 =12 - 5 .| 9 X 4 = 40 - 4 .l 40 + 8 = 2 + 3
M.M 2| 9 x 5 =50 - 5 2. 54 = 9 =14 - 8 2. 6 x 8 = 40 + 8 2| 54 - 6 =12 - 3
m@ 3. 6 x 8 = 46 + 2 3. 49 =+ 7 = 5 + 2 3.] 3 x 5 =20 - 5 3.| 81 -+ 9 = 4 + 5
4| 4 x 7 =26 + 2 4 21 + 3 = 4 + 3 4| 9 x 9 = 80 + | 4| 28 -~ 4 = |5 - 8
5| 54 + 9 = 10 - 4 5| 3 x 4 = 16 - 4 5| 63 + 7 =12 - 3 5| 18 + 10 = 4 x 7
6.| 72 + 8 = 10 - | 6.| 7 x 6 = 46 — 4 6.| 18 - 3 = 4 + 2 6.| 18 + 3 = 7 x 3
7./ 100 + 10 = 4 + 6 7. 6 x 3 = 9 + 9 7.0 48 = 6 =15 - 7 7.1 40 — 4 = 4 X 9
n 8.l 48 + 6 = 6 + 2 8| 4 x 8 =16 + 16 8.5 + 9 = 4 + 2 8| 40 - 5 = 7 x 5
mm 9.l 3 x 4 = 14 - 2 9.l 20 - 5 = 3 x 5 9.l 12 + 12 = 6 x 4 9.l 40 + 9 = 7 x 7
..M.W 0.] 9 x 2 = 9 + 9 | 10./3 + 6 = 4 x 9 |10 22+ 5 =3 x 9 |10 40 - &4 = 9 x 4
w.e .| 4 x 9 =40 — 4 | N.|60 - 4 = 8 x 7 | 1|60 - 4 =7 x 8| I.| 40 + 16 = 8 x 7
EDn 12| 5 x 8 =20 + 20 | 12| 50 + 4 = 9 x 6 | 12/, 80 - 8 = 9 x 8 |12 90 - 9 = 9 x 9
8./ 42 + 6 = 6 x 8 | 18|10 - 4 =23 = 6 | 1388 = 9 =3 + 6 |18 3 + 2 =25 + 5
4| 60 + 12 = 8 x 9 | 14| |15 — 8 =56 -~ 8 | l&| 40 = 5 = 12 — &4 | l&| 12 - 6 = 54 = 9
5./ 50 - 5 = 5 x 9 | I5| 183 - 4 =8 = 9 | 16|70 =+ 7 =15 - 5 | I5| 4 + 3 = 49 + 7
6.| 40 — 4 = 9 x &4 | 16.| 14 — 8 = 42 = 7 | 16 64 -~ 8 = 2 + 6 | 16| 14 — 5 =72 + 8
7./ 100 = 10 = 7 + 3 | 17| 8 x 4 =40 - 8 | 17.| 5 x 4 =12 + 8 | I7.| 4 x 4 = 9 + 7
m I8.| 64 ~ 8 = 16 — 8 | 18| 5 x 8 = 20 + 20 | 18.| 4 x 8 = 40 - 8 | 18| 7 x 6 = 21 + 2|
Ry 9. 54 = 6 = 5 + 4 | 19.| 9 x 5 = 40 4+ 5 | 19.] 8 x 7 =60 - 4 | 19.] 6 x 9 = 60 — 6
% 20| 45 = 9 = 10 - 5 |20.] 9 x 9 =8 - 4 | 2. 4 x 9 =18 + 18|2.[ 8 x 7 =60 - 4
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- Monday Tuesday Wednesday Thursday
m Time allowed: minutes allowed: minutes Time allowed: minutes Time allowed: minutes
?
m@ . 6 x 2) + 4 = 16| 1./(6 x 2 — 2 =10 I.| 8 = (@2 x 5)= 2 LJ(9 x 2) — 2 = 16
MM 2.0 9 x 2) - 4 = l4 21(9 x 2) + 2 =20 2.l 20 = 2 x 9 )+ 2 2./(5 x 2) - 2 = 38
m@ 3| 16 — (7 x 2) = 2 3./(7 x 2) — 2 = 12 3. 12 =@ x 7)=- 2 3.((7 x 2) + 2 = 16
41 20 - (5 x 2) =10 4((8 x 2) + 2 = 18 4|1 10 = 2 X &4 )+ 2 Gi(4 x 2) + 2 =10
5| (14 - 2) — 2 =5 5 11 =(18 + 2) + 2 5/ 5 + (18 + 2) = 14| 5| 4 =(4 = 2) + 2
o 6.l (18 + 20 + 2 = 1l 6. 1 =(14 = 2) + 4 6. 12 — (12 + 2) = 6 6.| 6 =(8 + 2 + 2
% 7.0 4 + (12 + 2) = 10 7. 2 =(8 + 2) - 2 7.l (16 + 20 — 2 = 6 7. 6 =(16 - 2) - 2
nnv) 8| 5 + (18 + 2 = |4 8. 2 =(12 + 2) - &4 8| 8 + 2 + 2 = 6 8. 4 =(12 -+ 2 - 2
Mﬂ 9. 14 = 2 x 8)- 2| 9| 5 x 2+ 6 =16| 9|2 - (7 x 2 = 6| 9|@ug=+2 - 2 =7
&9.9 2 = 2 x 5)+ 2 | 10.] 8 x 2) — 2 = 14010 10 - 3 x 2) = & [ 10| (4 =2 + 2 =9
.nlvnvla_ .| 16 = (2 x 9 )- 2 ., 20 - (9 x 2) = 2 ., 9@ x 2 + 4 =2 1. 2 + (6 + 2 =5
el 2. 16 = (2 x 7 )+ 2 |12 20 - (7 x 2) = 6 |12 (5 x 2) — 10 = 0 | 12| I8 - (16 - 2 = 5
m 8. 10 =(4 x 2) + 2 18| (l6 = 2 — 2 = 6 | 18| Il =(18+ 2 + 2 | 13| 18 = (2 x 10)- 2
Z 4. 2 =(2 x 2) — 2 | 14| 8 = 20 + 2 = 6 | l&| 9 =(1&6+ 2) + 2 | l&| 4 = (2 x 1)+ 2
I5.| 18 =(8 x 2) + 2 | 15| 6 + (18 = 2 =15 156, 8 =(20 ~ 2) — 2 | 15| 14 = (2 x 8)- 2
6.| 6 =(4 x 2) — 2 |16 8 — (6 +2) = 5|16 2 =(8 =2 - 2 16 12 = (2 x 5)+ 2
17.{(6 x 2) — 2 =10 | 17| 8 = (2 x 5 )= 2 | 17.](9 x 2) — 2 = 16| 17.| 8 x 2) + 4 = 20
N 18.1(10 x 2) — 2 = 18 | 18.| 16 = (2 x 7 )+ 2 | 18./(4 x 2) — 2 = 6 |18 (10 x 20 — 0 = 20
N 19.{(7 x 2) + 2 =16 1 19.] 16 = 2 x 9)— 2 | 19./(3 x 2) + 2 = 8 | 19.] 20 - (7 x 2) = 6
% 20.[(9 x 20 + 2 =20]20.| 10 = (2 x 4 )+ 2 | 20./(1 x 2) + 2 = 4 |20 10 — (I x 2) = 8
W Score Score Score Score
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- Monday Tuesday Wednesday Thursday
m Time allowed: minutes allowed: minutes Time allowed: minutes Time allowed: minutes
?
M.@ .| (7 x 4 + 2 = 30 I.|](8 X 4 — 4 = 28 .| 26 = (4 x 7 )- 2 ILI(7 x 4 — 4 = 24
MM 2| 9 x 4 - 6 = 30 2.1(4 x 4 + 4 =20 2. 38 = (4 x 9 )+ 2 2.1(9 %X 4) + 4 = 40
m@ 3. 20 - (4 x 4 = 4 3.((2 x 4 - 4 = 4 3./ 3 = (4 x 8)- 2 3.((5 x 4 - 2 = 18
4| 40 - (8 x 4) = 8 4|(6 X 4 + 4 = 28 4| 16 = (4 X 3 )+ 4 4i(6 x 4 + 2 = 26
5| 28 + 4 - 4 = 3 5| 7 =(20 + 4) + 2 5| 2 + 82 + 4 = 10| 5| 3 =(20 = 4 - 2
o 6.| 20 + 4 + 4 = 9 6. 1 =(32 + 4 + 3 6.| 12 — (20 ~ 4) = 7 6.| 7 =(3 + 4 - 2
% 7.1 4 + (36 = 4) = 13 7.1 2 =(24 + 4) - 4 7.0 (12 = 4 - 2 = | 7.1 5 =(12 = 4 + 2
%) 8| 9 + (12~ 4 =12 8| 4 =(3 =« 4 - 5| 8@+ 4 + 4 = 12| 8| 6 =(16 + 4 + 2
MI_._. 9.1 28 = (4 X 8 )- 4 9.l 7 x 4 + 2 = 30 9.l 30 — (6 x 4 = 6 9.| 2 ~ 4) - 4 = 2
%w’ 0.| 20 = (4 x 4 )+ 4 | 10.| (9 x 4 - 6 = 30| 10.| 20 — (3 x 4 = 8 | 10.| 82 = 4 + 4 = 12
aw._a. .| 24 = (4 x 7 )- &4 .| 20 — (3 x 4 = 8 .| 8 x 4 + 8 = 40| Il.| 3 + (28 = 4 = 10
el 12| 16 = (4 x 3 )+ 4 |12, 40 — (8 x 4) = 8 | 12| (5 x 4 - 10 = 10| 12.| 15 - (20 =+ 4) = 10
m 8. 18 =(4 x 4 + 2 | 18| 86 = 4 - 4 = 5 | 18| 12 =(32 = 4 + 4 | 18| 16 = (&4 x 3 )+ 4
Z 4. 10 =(3 x 4 — 2 | l4| (28 = 4) + 4 = 11 | 14| 14 =(40 = 4) + & | l&| 4 = (4 X 2 )— &4
I5.| 22 =(5 x 4 + 2 | 15| 6 + (32 = 4) = 14 | 16| 2 =(24 ~ 4) - 4 | 15| 34 = (4 X 8 )+ 2
6.| 30 =(8 x 4 — 2 | 16.| 4 + (40 = 4) = 14 | 16| 5 =(36 = 4) - 4 | 16| 22 = (4 X 6 )— 2
17.{(6 x 4 — 4 = 20| 17.| 8 = (4 x 3 )— 4 | 17./(8 x 4 — 4 = 28| I17.| (8 x 4 + 8 = 40
Mﬂ.u 18./(7 X 4 — 4 = 24 | 18| 40 = (4 x 9 )+ 4 | 18.|( 6 x 4 - 4 =20 18.| (3 X 4 - &4 = 8
Ry 19.{( 56 x 4 + 4 =24 | 19.| 16 = (4 x 5 )= 4 | 19./(9 x 4 + 4 = 40 ] 19.| 30 — (7 X 4 = 2
% 20.[(9 x 4) + 4 =40 20|32 = (4 x 7)+ 4 | 204 x 4 + 4 =2 |20. 4 - © x 4 = 4
W Score Score Score Score
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K 19.{( 7 x 6) + 6 = 48] 19.| 38 = (6 X 7 )= & | 19./(7 x 6) + 3 = 45] 19.| 50 — (7 x 6) =
% 20./(3 x 6) + 10 = 28|20 3 = (6 x 5)+ 5 |20./(9 x 6) + 2 =56 20.| 60 - (9 x 6) =
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” 6.| 49 -~ 7) + 8 = 15| 6.| 14 =(24 - 3) + 6 6.| 14 — (72 -~ 8 = 5 6.| 2 =(32 + 8 - 2
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